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Ciascuno	
  dei	
  seguenti	
  50	
  quesiti	
  prevede	
  una	
  sola	
  risposta	
  esatta,	
  da	
  scegliere	
  –	
  secondo	
  le	
  indica-­‐

zioni	
  riportate	
  sulla	
  griglia	
  in	
  allegato	
  –	
  fra	
  le	
  4	
  opzioni	
  proposte	
  (a	
  b	
  c	
  d).	
  

1. L'Italia	
  confina	
  con:	
  

a) Francia,	
  Svizzera,Germania,	
  Austria,	
  Slovenia	
  

b) Francia,	
  Svizzera,	
  Austria,	
  Slovenia	
  

c) Francia,	
  Svizzera,	
  Austria,	
  Slovenia,	
  Croazia	
  

d) Francia,	
  Austria,	
  Slovenia	
  

	
  

2. Quali	
  sono	
  le	
  province	
  autonome	
  in	
  Italia?	
  

a) Trento	
  e	
  Trieste;	
  

b) Bolzano	
  e	
  Trento;	
  

c) Trieste	
  e	
  Bolzano;	
  

d) Aosta	
  e	
  Bolzano.	
  

	
  

3. Gli	
  abitanti	
  dell'Italia	
  sono	
  all’incirca:	
  

a) 50	
  milioni	
  

b) 60	
  milioni	
  

c) 70	
  milioni	
  

d) 110	
  milioni	
  

	
  

4. Il	
  Parlamento	
  italiano	
  si	
  compone:	
  

a) della	
  Camera	
  dei	
  deputati,	
  della	
  Camera	
  dei	
  senatori	
  e	
  della	
  Camera	
  delle	
  regioni	
  	
  

b) della	
  Camera	
  dei	
  deputati,	
  del	
  Senato	
  della	
  Repubblica	
  e	
  della	
  Camera	
  delle	
  Regioni	
  

c) del	
  Senato,	
  della	
  Camera	
  e	
  della	
  Conferenza	
  Stato-­‐regioni	
  

d) della	
  Camera	
  dei	
  deputati	
  e	
  del	
  Senato	
  della	
  Repubblica	
  	
  

	
  

5. Attualmente	
  il	
  Presidente	
  del	
  Consiglio	
  è:	
  

a) Letta	
  

b) Bersani	
  

c) Napolitano	
  

d) Renzi	
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6. L’attuale	
  ministro	
  del	
  lavoro	
  e	
  delle	
  politiche	
  sociali	
  è:	
  

a) Giovannini	
  	
  

b) Lorenzin	
  

c) Sacconi	
  

d) Fornero	
  

	
  

7. Secondo	
  la	
  Costituzione	
  italiana	
  il	
  Presidente	
  della	
  Repubblica	
  è	
  eletto:	
  

a) dal	
  Consiglio	
  dei	
  Ministri	
  in	
  seduta	
  plenaria	
  

b) dal	
  Parlamento	
  in	
  seduta	
  comune	
  dei	
  suoi	
  membri	
  unitamente	
  ai	
  delegati	
  regionali	
  

c) dal	
  popolo	
  mediante	
  referendum	
  

d) dai	
  partiti	
  politici	
  mediante	
  accordo	
  programmatico	
  

	
  

8. Individua	
  l’abbinamento	
  ERRATO:	
  

a) Olanda	
  /	
  Repubblica	
  parlamentare	
  

b) Francia	
  /	
  Repubblica	
  semipresidenziale	
  

c) Regno	
  Unito	
  /	
  Monarchia	
  parlamentare	
  

d) Norvegia	
  /	
  Monarchia	
  costituzionale	
  

	
  

9. Di	
  quale	
  settore	
  specifico	
  si	
  occupa	
  l’organizzazione	
  mondiale	
  OMS?	
  

a) della	
  salute	
  

b) delle	
  problematiche	
  attinenti	
  alla	
  cultura	
  

c) del	
  sottosviluppo	
  economico	
  

d) della	
  fame	
  nel	
  mondo	
  

	
  

10. Dove	
  si	
  trova	
  la	
  sede	
  ufficiale	
  della	
  FAO?	
  	
  

a) Zurigo	
  

b) Roma	
  

c) New	
  York	
  

d) Parigi	
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11. L'Istat	
  e	
  l'INPS	
  sono	
  rispettivamente:	
  

a) L'Istituto	
  Statale	
  Italiano	
  e	
  L'istituto	
  Nazionale	
  Previdenza	
  Sociale	
  

b) L'Istituto	
  Nazionale	
  di	
  Statistica	
  e	
  l'Istituto	
  Nazionale	
  Previdenza	
  Sociale	
  

c) L'Istituto	
  Nazionale	
  per	
  il	
  sociale	
  e	
  l'Istituto	
  Nazionale	
  Protezione	
  Sociale	
  

d) L'Istituto	
  Nazionale	
  di	
  Statistica	
  e	
  l'Istituto	
  Nazionale	
  Prossimità	
  Sociale	
  

	
  

12. Di	
  quale	
  settore	
  specifico	
  si	
  occupa	
  l’organizzazione	
  intergovernativa	
  UNDP?	
  -­‐	
  

a) del	
  ritrovamento	
  dei	
  criminali	
  di	
  guerra	
  

b) delle	
  problematiche	
  attinenti	
  alla	
  cultura	
  

c) dello	
  sviluppo	
  	
  

d) della	
  fame	
  nel	
  mondo	
  

	
  

13. La	
  Convenzione	
  sul	
  Patrimonio	
  dell'Umanità,	
  adottata	
  dall'UNESCO	
  nel	
  1972,	
  ha	
  lo	
  scopo	
  di	
  iden-­‐

tificare	
  e	
  mantenere	
  la	
  lista	
  dei	
  siti	
  che	
  possono	
  essere	
  considerati:	
  

a) di	
  rilevante	
  valore	
  di	
  mercato	
  

b) convenzionalmente	
  ritenuti	
  adatti	
  all’insediamento	
  umano	
  

c) caratterizzati	
  da	
  una	
  pace	
  duratura	
  

d) di	
  eccezionale	
  importanza	
  culturale	
  o	
  naturale	
  

	
  

14. La	
  coscienza	
  di	
  Zeno	
  è:	
  

a) un	
  romanzo	
  di	
  Italo	
  Svevo	
  

b) un	
  saggio	
  di	
  Sigmund	
  Freud	
  

c) la	
  tesi	
  di	
  laurea	
  di	
  Carl	
  Gustav	
  Jung	
  

d) la	
  biografia	
  di	
  Italo	
  Calvino	
  

	
  

15. Indicare	
  il	
  contrario	
  di	
  sollecito	
  tra:	
  

a) veloce	
  

b) negligente	
  

c) ostile	
  

d) vietato	
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16. Quale	
  dei	
  seguenti	
  aggettivi,	
  ricavati	
  dal	
  nome	
  di	
  celebri	
  scrittori	
  e	
  filosofi,	
  viene	
  usato	
  comune-­‐

mente	
  nel	
  significato	
  di	
  "paradossale"?	
  

a) boccaccesco	
  

b) kafkiano	
  	
  

c) dantesco	
  

d) cartesiano	
  

	
  

17. La	
  spiegazione	
  di	
  uno	
  dei	
  seguenti	
  modi	
  di	
  dire	
  NON	
  è	
  corretta:	
  

a) Andare	
  per	
  la	
  maggiore:	
  riscuotere	
  un	
  notevole	
  successo	
  

b) Mettere	
  all’indice:	
  vietare	
  qualcosa	
  ritenuto	
  riprovevole	
  

c) Sbarcare	
  il	
  lunario:	
  vivere	
  al	
  di	
  sopra	
  delle	
  proprie	
  possibilità	
  

d) È	
  lapalissiano:	
  è	
  talmente	
  evidente	
  da	
  essere	
  scontato	
  

	
  

18. Lettera	
  ad	
  una	
  professoressa	
  è:	
  	
  

a) Un	
  Romanzo	
  scritto	
  da	
  Alberto	
  Moravia	
  

b) Una	
  riflessione	
  critica	
  scritta	
  da	
  un	
  gruppo	
  di	
  universitari	
  

c) Una	
  riflessione	
  critica	
  scritta	
  da	
  un	
  gruppo	
  di	
  ragazzi	
  

d) Un	
  saggio	
  sulla	
  storia	
  della	
  scuola	
  

	
  

19. I	
  "Quaderni	
  del	
  carcere"	
  contengono	
  una	
  riflessione	
  sull'infanzia	
  e	
  sulla	
  pedagogia	
  di	
  un	
  grande	
  
pensatore,	
   perseguitato	
   politico	
   rinchiuso	
   in	
   carcere	
   dal	
   Tribunale	
   speciale	
   fascista,	
   e	
  morto	
   a	
  

Roma	
  nel	
  1937.	
  	
  Si	
  tratta	
  di:	
  

a) Croce	
  

b) Gramsci	
  

c) Lenin	
  

d) Makarenko	
  

	
  

20. Con	
  il	
  termine	
  “femminicidio”	
  si	
  indica:	
  

a) La	
  rivolta	
  femminista	
  contro	
  i	
  soprusi	
  dei	
  maschi	
  

b) comportamenti	
  persecutori	
  contro	
  un	
  a	
  donna	
  

c) il	
  femminismo	
  inteso	
  come	
  filone	
  filosofico	
  	
  

d) l’uccisione	
  di	
  donne	
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21. Quale	
  tra	
  le	
  seguenti	
  affermazioni	
  è	
  la	
  più	
  formalmente	
  corretta:	
  

a) L’Italia	
  è	
  una	
  repubblica	
  democratica	
  fondata	
  sul	
  lavoro	
  

b) L’Italia	
  è	
  una	
  repubblica	
  presidenziale	
  

c) L’Italia	
  è	
  una	
  repubblica	
  semi-­‐presidenziale	
  

d) L’Italia	
  è	
  una	
  repubblica	
  laica	
  

	
  

22. Dirimere	
  una	
  questione	
  vuol	
  dire:	
  

a) travisarla	
  

b) esprimerla	
  

c) rinviarla	
  

d) risolverla	
  

	
  

23. Una	
  persona	
  con	
  molti	
  interessi	
  diversi	
  si	
  può	
  definire	
  un	
  tipo:	
  

a) dialettico	
  

b) didattico	
  

c) eclettico	
  

d) sinottico	
  

	
  

24. Il	
  bing-­‐drinking	
  è:	
  	
  

a) un	
  ballo	
  

b) un	
  bere	
  compulsivo	
  

c) uno	
  sport	
  acquatico	
  

d) un	
  aperitivo	
  

	
  

25. Indicare	
  il	
  contrario	
  di	
  evasivo:	
  

a) elusivo	
  	
  

b) sfuggente	
  

c) destabilizzante	
  

d) preciso	
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26. Ineffabile	
  vuol	
  dire:	
  

a) inesprimibile	
  

b) arguto	
  

c) inutile	
  

d) ostile	
  

	
  

27. Sbrigare	
  una	
  pratica	
  burocratica	
  significa:	
  

a) invaderla	
  	
  

b) evaderla	
  

c) pervaderla	
  

d) provvederla	
  

	
  

28. Completare	
   la	
   seguente	
   frase:	
   I	
   soci	
   ordinari	
   possono	
  deliberare	
  di	
   ___________	
   all'Accademia	
  

venti	
  accademici	
  italiani	
  e	
  altrettanti	
  stranieri.	
  

a) aggregare	
  

b) segregare	
  

c) prodigare	
  

d) promulgare	
  

	
  

29. “Dare	
  l’ostracismo	
  a	
  qualcuno”	
  significa:	
  

a) accoglierlo	
  con	
  un’ovazione	
  

b) accusarlo	
  di	
  astrattezza	
  

c) escluderlo	
  o	
  isolarlo	
  

d) contraddirlo	
  

	
  

30. Cos’è	
  il	
  kibbutz?	
  

a) Tipica	
  abitazione	
  popolare	
  del	
  Kenya	
  

b) Fattoria	
  collettiva	
  nello	
  Stato	
  di	
  Israele	
  

c) Fattoria	
  collettiva	
  in	
  Romania	
  al	
  tempo	
  di	
  Ceausescu	
  

d) Piatto	
  tipico	
  dello	
  Stato	
  del	
  Sudan	
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31. La	
   frase:	
   ,	
   “La	
   Repubblica	
   tutela	
   la	
   salute	
   come	
   fondamentale	
   diritto	
   dell'individuo	
   e	
   interesse	
  

della	
  collettività	
  e	
  garantisce	
  cure	
  gratuite	
  agli	
  indigenti”,	
  è	
  presente:	
  

a) nella	
  legge	
  che	
  istituisce	
  il	
  Servizio	
  sanitario	
  italiano	
  –	
  legge	
  n.833/1978	
  

b) nella	
  Costituzione	
  italiana	
  

c) nella	
  legge	
  che	
  istituisce	
  i	
  Consultori	
  familiari	
  in	
  Italia	
  –	
  legge	
  n.405/1975	
  

d) nella	
  legge	
  dedicata	
  agli	
  accertamenti	
  e	
  trattamenti	
  sanitari	
  volontari	
  e	
  obbligatori	
  nell’ambito	
  

della	
  salute	
  mentale	
  -­‐	
  legge	
  n.180/1978	
  

	
  

32. Quali	
  sono	
  le	
  principali	
  cause	
  di	
  morte	
  nell'Unione	
  Europea?	
  

a) malattie	
  del	
  sistema	
  circolatorio	
  e	
  i	
  tumori	
  

b) malattie	
  infettive	
  e	
  parassitarie	
  

c) malattie	
  del	
  sistema	
  respiratorio	
  

d) disturbi	
  psichici	
  e	
  comportamentali	
  

	
  

33. Il	
  consultorio	
  familiare	
  è	
  un	
  particolare	
  servizio	
  dedicato	
  alle	
  famiglie	
  e	
  ai	
  minori	
  in	
  situazione	
  di	
  

disagio	
  e	
  attiene	
  alla	
  competenza	
  funzionale	
  e	
  gestionale	
  di:	
  

a) il	
  Comune	
  dove	
  nel	
  cui	
  territorio	
  è	
  operante	
  il	
  servizio	
  

b) la	
  Provincia	
  nel	
  cui	
  territorio	
  è	
  operante	
  il	
  servizio	
  

c) l’	
  Azienda	
  per	
   i	
  Servizi	
   sanitari	
   (o	
  A.ULSS)	
  presente	
  e	
  operante	
  sul	
   territorio	
  di	
  operatività	
  del	
  

consultorio	
  familiare	
  

d) la	
  Regione	
  nel	
  cui	
  territorio	
  opera	
  il	
  servizio	
  consultoriale	
  

	
  

34. Il	
  servizio	
  sociale	
  è:	
  

a) una	
  professione	
  di	
  aiuto	
  alle	
  persone	
  che	
  si	
  trovano	
  in	
  situazione	
  di	
  disagio	
  

b) una	
  professione	
  orientata	
  alla	
  diagnosi	
  e	
  cura	
  di	
  patologie	
  e	
  disfunzioni	
  sociali	
  

c) una	
  professione	
  di	
  accudimento	
  rivolta	
  prevalentemente	
  a	
  persone	
  anziane	
  

d) una	
  professione	
  che	
  si	
  occupa	
  di	
  accudire	
  minorenni	
  o	
  invalidi	
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35. Il	
  servizio	
  sociale	
  opera	
  prevalentemente:	
  

a) nelle	
  strutture	
  residenziali	
  per	
  anziani	
  

b) nelle	
  strutture	
  residenziali	
  per	
  minori	
  

c) all’interno	
  dei	
  Comuni	
  e	
  delle	
  Aziende	
  Sanitarie	
  

d) negli	
  enti	
  previdenziali	
  

 
36. Quale	
  tra	
  le	
  seguenti	
  non	
  è	
  una	
  prestazione	
  di	
  tipo	
  previdenziale:	
  

a) astensione	
  obbligatoria	
  per	
  maternità	
  

b) pensione	
  di	
  vecchiaia	
  

c) pensione	
  di	
  invalidità	
  

d) reddito	
  da	
  lavoro	
  dipendente	
  

	
  

37. Quale	
  tra	
  le	
  seguenti	
  affermazioni	
  non	
  può	
  essere	
  vera:	
  

a) il	
  servizio	
  sociale	
  si	
  occupa	
  di	
  sostenere	
  ed	
  accompagnare	
  le	
  persone	
  in	
  percorsi	
  di	
  cambiamen-­‐

to	
  finalizzati	
  alla	
  rimozione	
  e	
  al	
  superamento	
  di	
  situazioni	
  di	
  disagio	
  

b) il	
  servizio	
  sociale	
  ha	
  il	
  compito	
  di	
  monitorare	
  i	
  comportamenti	
  dei	
  cittadini	
  segnalando	
  alle	
  au-­‐

torità	
  competenti	
  qualsiasi	
  comportamento	
  non	
  conforme	
  alla	
  norma	
  

c) il	
  servizio	
  sociale	
  si	
  impegna	
  a	
  promuovere	
  il	
  rispetto	
  e	
  la	
  dignità	
  dell’essere	
  umano	
  in	
  quanto	
  

dotato	
  di	
  infinite	
  potenzialità	
  

d) il	
   servizio	
   sociale	
   interviene	
   a	
   sostegno	
   della	
   comunità	
   promuovendo	
   e	
   sostenendo	
   azioni	
   o-­‐

rientate	
  alla	
  costituzione	
  di	
  una	
  comunità	
  competente	
  

	
  

38. Per	
  metodologia	
  del	
  servizio	
  sociale	
  si	
  intende:	
  

a) il	
  metodo	
  scientificamente	
  fondato	
  e	
  rigoroso	
  che	
  viene	
  applicato	
  nell’azione	
  professionale	
  

b) la	
  dottrina	
  che	
  sottopone	
  ad	
  analisi	
  le	
  regole,	
  i	
  principi	
  di	
  natura	
  procedurale,	
  l’analisi	
  dei	
  fon-­‐

damenti	
   del	
   processo	
   logico-­‐razionale	
   che	
   orientano	
   le	
   procedure	
   finalizzate	
   alla	
   conoscenza	
  

scientifica	
  e	
  all’azione	
  

c) la	
  disciplina	
  che	
  spiega	
  come	
  si	
  lavora	
  

d) nel	
  servizio	
  sociale	
  non	
  si	
  può	
  parlare	
  di	
  una	
  vera	
  e	
  propria	
  metodologia	
  perché	
  è	
  una	
  profes-­‐

sione	
  che	
  si	
  basa	
  sulla	
  capacità	
  di	
  stabilire	
  una	
  positiva	
  relazione	
  con	
  la	
  persona	
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39. La	
  relazione	
  di	
  aiuto	
  nel	
  servizio	
  sociale	
  professionale	
  può	
  essere	
  definita	
  come:	
  

a) la	
  capacità	
  di	
  aiutare	
  le	
  persone	
  che	
  sono	
  in	
  difficoltà,	
  in	
  situazione	
  di	
  povertà,	
  di	
  abbandono,	
  

ecc.	
  

b) la	
  capacità	
  professionale	
  di	
  stabilire	
  una	
  relazione	
  di	
  accoglienza	
  e	
  di	
  autorevolezza	
  nel	
  rispetto	
  

dei	
  valori	
  e	
  della	
  cultura	
  della	
  persona	
  e	
  dei	
  bisogni	
  che	
  questa	
  esprime	
  	
  

c) l’insieme	
  delle	
  azioni	
  professionali	
  indirizzate	
  ai	
  rapporti	
  con	
  la	
  persona,	
  il	
  contesto	
  di	
  apparte-­‐

nenza	
  e	
  l’organizzazione	
  di	
  riferimento,	
  connotandosi	
  in	
  base	
  al	
  rapporto	
  interpersonale	
  e	
  alle	
  

aspettative	
  reciproche	
  di	
  scambio	
  e	
  di	
  comunicazione;	
  è	
  sostenuta	
  sul	
  piano	
  teorico	
  e	
  metodo-­‐

logico	
  

d) la	
  capacità	
  di	
  aiutare	
  le	
  persone	
  attraverso	
  l’empatia	
  

	
  

40. L’assistente	
  sociale	
  opera	
  in	
  una	
  situazione	
  di	
  multidimensionalità	
  perché:	
  

a) lavora	
  con	
  molte	
  e	
  diverse	
  persone	
  

b) è	
  inserito	
  in	
  diverse	
  organizzazioni	
  

c) lavora	
  con	
  le	
  persone,	
  la	
  comunità	
  e	
  l’organizzazione	
  

d) nel	
  suo	
  intervento	
  deve	
  tener	
  conto	
  sia	
  della	
  singola	
  persona	
  che	
  della	
  famiglia	
  

	
  

41. Il	
  codice	
  civile	
  è	
  diviso:	
  

a) in	
  29	
  libri,	
  ciascuno	
  composto	
  da	
  100	
  articoli	
  	
  

b) in	
  10	
  libri	
  	
  

c) in	
  6	
  libri	
  	
  

d) in	
  3	
  libri	
  

	
  

42. Quale	
  dei	
  seguenti	
  codici	
  non	
  è	
  una	
  raccolta	
  di	
  norme	
  giuridiche?	
  

a) Codice	
  della	
  navigazione	
  	
  

b) Codice	
  di	
  diritto	
  penale	
  

c) Codice	
  di	
  diritto	
  canonico	
  

d) Codice	
  etico	
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43. L’acquisto	
  della	
  capacità	
  giuridica	
  ha	
  luogo:	
  

a) con	
  la	
  nascita	
  	
  

b) con	
  la	
  nascita	
  di	
  un	
  individuo	
  vitale	
  	
  

c) al	
  momento	
  della	
  registrazione	
  nei	
  registri	
  dello	
  stato	
  civile	
  	
  

d) con	
  la	
  nascita,	
  escluse	
  le	
  ipotesi	
  in	
  cui	
  la	
  legge	
  riconosce	
  diritti	
  al	
  concepito	
  (in	
  tal	
  caso	
  la	
  capa-­‐

cità	
  si	
  acquista	
  nel	
  momento	
  in	
  cui	
  sorge	
  il	
  diritto)	
  

	
  

44. Il	
  vincolo	
  che	
  unisce	
  marito	
  e	
  moglie	
  è,	
  formalmente,	
  quello	
  di:	
  

a) parentela	
  di	
  primo	
  grado	
  	
  

b) affinità	
  di	
  primo	
  grado	
  	
  

c) non	
  si	
  tratta	
  né	
  di	
  parentela,	
  né	
  di	
  affinità	
  	
  

d) parentela	
  di	
  secondo	
  grado	
  

	
  

45. In	
  una	
  successione	
  ereditaria	
  nella	
  quale	
  gli	
  eredi	
   sono	
  4	
   fratelli,	
  al	
  maggiore	
  di	
  essi	
   la	
  defunta	
  

madre	
  ha	
  riservato	
  la	
  quota	
  disponibile,	
  cioè	
  1/3	
  dell’eredità.	
  Supponendo	
  che	
  i	
  quattro	
  fratelli	
  

divideranno	
  fra	
  loro	
  in	
  parti	
  uguali	
  la	
  rimanente	
  quota	
  dei	
  2/3,	
  quale	
  frazione	
  dell’eredità	
  spette-­‐

rà	
  al	
  fratello	
  maggiore?	
  

a) 1/2	
  

b) 1/4	
  

c) 1/5	
  

d) 1/6	
  

	
  

46. Una	
  donna	
  con	
  sei	
  dita	
  in	
  ogni	
  mano	
  e	
  in	
  ogni	
  piede	
  ha	
  già	
  generato	
  5	
  figli,	
  tutti	
  senza	
  questa	
  a-­‐

nomalia.	
  Sapendo	
  che	
  la	
  donna	
  è	
  eterozigote,	
  che	
  il	
  carattere	
  che	
  determina	
  la	
  formazione	
  di	
  sei	
  

dita	
  è	
  dominante	
  e	
  che	
  il	
  padre	
  dei	
  bambini	
  non	
  ha	
  questa	
  anomalia,	
  qual	
  è	
  la	
  probabilità	
  che	
  un	
  

sesto	
  figlio	
  di	
  questi	
  genitori	
  abbia	
  sei	
  dita?	
  

a) 5%	
  

b) 10%	
  

c) 25%	
  

d) 50%	
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47. Un	
  soggetto	
  abituato	
  a	
  bere	
  un	
  quarto	
  di	
  vino	
  al	
  giorno	
  deve	
  osservare	
  una	
  dieta	
  che	
  prevede	
  al	
  
massimo	
  un	
  quinto	
  di	
  litro	
  di	
  vino	
  al	
  giorno.	
  A	
  quale	
  quantità	
  giornaliera	
  minima	
  di	
  vino	
  dovrà	
  ri-­‐

nunciare?	
  

a) 75	
  ml	
  

b) 50	
  ml	
  

c) 25	
  ml	
  

d) 10	
  ml	
  

	
  

48. Quale	
  di	
  questi	
  ragionamenti	
  è	
  corretto	
  da	
  un	
  punto	
  di	
  vista	
  deduttivo:	
  

a) Carlo	
  ha	
  4	
  anni.	
  I	
  bambini	
  di	
  4	
  anni	
  sono	
  tutti	
  biondi.	
  Quindi	
  Carlo	
  è	
  biondo	
  

b) Carlo	
  ha	
  4	
  anni.	
  I	
  bambini	
  sopra	
  4	
  anni	
  sono	
  biondi.	
  Quindi	
  Carlo	
  non	
  è	
  biondo	
  

c) Carlo	
  ha	
  4	
  anni.	
  I	
  bambini	
  sopra	
  4	
  anni	
  non	
  sono	
  biondi.	
  Quindi	
  Carlo	
  è	
  biondo	
  

d) se	
  Carlo	
  avesse	
  sei	
  anni	
  e	
  frequentasse	
  la	
  prima	
  elementare,	
  e	
  se	
  tutti	
  gli	
  altri	
  bambini	
  di	
  quella	
  

classe	
  fossero	
  biondi,	
  Carlo	
  sarebbe	
  biondo	
  

	
  

49. La	
   qualità	
   della	
   prestazione	
   in	
   un	
   compito	
   qualsiasi	
   è	
   una	
   funzione	
   ad	
   U	
   capovolta	
  

dell’attivazione.	
   Inoltre	
   l’ambito	
   entro	
   il	
   quale	
   la	
   prestazione	
   migliora	
   con	
   l’aumento	
  

dell’attivazione	
  varia	
  con	
  la	
  complessità	
  del	
  compito.	
  Ciò	
  significa	
  che:	
  

a) Sempre	
  alla	
  massima	
  attivazione	
  corrisponde	
  il	
  massimo	
  risultato	
  

b) Il	
  risultato	
  dipende	
  dall’attivazione	
  e	
  dalla	
  complessità	
  del	
  compito	
  in	
  misura	
  uguale	
  

c) Se	
  il	
  compito	
  è	
  difficile	
  il	
  risultato	
  è	
  garantito	
  se	
  l’attivazione	
  è	
  massima	
  

d) Con	
  il	
  crescere	
  dell’attivazione	
  la	
  qualità	
  della	
  prestazione	
  aumenta	
  fino	
  ad	
  un	
  punto	
  in	
  cui,	
  pur	
  

aumentando	
  l’attivazione,	
  la	
  prestazione	
  tende	
  a	
  peggiorare.	
  

	
  

50. Marta	
  ha	
  i	
  capelli	
  più	
  chiari	
  di	
  Lisa.	
  Nadia	
  ha	
  i	
  capelli	
  più	
  scuri	
  di	
  Lisa	
  ma	
  più	
  chiari	
  di	
  Sara.	
  Marta	
  

ha	
  i	
  capelli	
  più	
  scuri	
  di	
  Ada.	
  Chi	
  ha	
  i	
  capelli	
  più	
  chiari?	
  

a) Marta	
  

b) Lisa	
  

c) Ada	
  

d) Sara	
  


